PUBLIC COMMENT

Received via On-Line Public Comment Form

Nevada Department of Transportation Board of Directors Meeting July 13, 2020

ID: 21

Start time: 7/10/2020 1:31:41 PM

Completion time: 7/10/2020 1:49:37 PM

Email: anonymous

Name: Aleta Dupree

Representing:

Agenda Item: 8

Position: Support

Total # of Words: 243

Comment Good morning Governor Steve Sisolak and Members.

Aleta Dupree here for the record.

Today I speak of matters concerning NDOT, not generally pertaining to the posted Agenda.

NDOT is about Safety, first and foremost. I appreciate our Director of Transportation, Kristina Swallow, reporting on stories of those affected by traffic fatalities. NDOT is much more than numbers, but most of all, about People. I ask for you to continue with this Safety and People oriented mindset, and working in active partnership with our friends at NHP.

Even in the challenges of this crisis that is COVID-19, good roads are indeed essential. Again I reiterate the importance of the 24 hour HOV lane system in Las Vegas. There is equity in HOV, allowing for those of modest means, Seniors, and people with disabilities to access the freeway system safely and equitably, using higher capacity vehicles such as RTC buses and paratransit vans. Continue the work of adding appropriate entry and exit points, and timely messaging on safety related matters.

I ask of you in these trying times, to always keep in mind the greatness of this place that is Nevada. Nevada is about home. Nevada is about leadership. Nevada is not just a State, but indeed a great State, a place that I desire will be a home to all who set foot on Nevada soil, be it for a short visit, or a lifetime.

All the best to you and yours. Thank you.

From: Ken Smith

To: PublicComment

Subject: HOV Lane Inquiry during Covid-19 pandemic **Date:** Wednesday, July 8, 2020 5:04:24 PM

Question for Governor Sisolak who chairs the Nevada Transportation Board:

Q. How can NDOT continue to promote carpooling while the state continues to strongly encourage Southern Nevadans to "Socially Distance" from Each other? Even Waze has suspended ride sharing indefinitely.

Follow up Question:

Q. Shouldn't all HOV rules be suspended until the Current crisis is over and a review the usefulness of HOV lanes is completed in the new age of social distancing and working from home?

Ken Smith Traffic Anchor KVVU-TV Fox 5 Meredith Corporation

This electronic message, including any attachments, may contain proprietary, confidential or privileged information for the sole use of the intended recipient(s). You are hereby notified that any unauthorized disclosure, copying, distribution, or use of this message is prohibited. If you have received this message in error, please immediately notify the sender by reply e-mail and delete it.

From: Eduardo Jansen
To: PublicComment

Subject: Projects 3835 and 3831 - 7/13 Board Meeting

Date: Wednesday, July 8, 2020 4:33:41 PM

Attachments: image003.png

image003.png 3835 Unofficial Bid Tabulation.pdf 3831 Unofficial Bid Tabulation (1).pdf

Hello NDOT – Will Projects 3835 and 3831 be awarded on 7/13? See attached.

Thanks Eduardo

Eduardo Jansen, Esq.
Land Use and Labor Compliance Specialist

<u>Carpenters/Contractors Cooperation Committee</u>

213/738-9071



Bid Tabulation Nevada Department of Transportation

Contract No.: 3835 Contract Description: Awarded To:

Project No(s).: SPSR-0228(004) For double chip seal Bids Opened: June 11, 2020, 2:00 PM

Amount: \$0.00 Certified by:

Contract Location: On SR 228

Date:

Administrative Services Officer

Engineer's Estimate untain Slurry Seal, Inc. Sierra Nevada Construction, Inc. **Harney Rock & Paving Company** VSS International, Inc. PO Box 50085 PO Box 50760 457 South Date Avenue PO Box 981330 Watsonville, CA 95077 Sparks, NV 89435 Burns. OR 97720-West Sacramento, CA 95798 Item No. Quantity Unit Description **Unit Price** Amount 2021295 30.000 SQYD REMOVE PAVEMENT MARKINGS \$20.00 \$600.00 \$25.00 \$750.00 \$35.00 \$1.050.00 \$20.00 \$600.00 \$350.00 \$10.500.00 \$450.00 \$72,000.00 \$560.00 \$450.00 \$72,000.00 \$72,000.00 4070230 160.000 TON FOG SEAL \$89,600.00 \$600.00 \$96,000.00 \$450.00 4070240 10.000 TON SAND BLOTTER \$40.00 \$10.00 \$100.00 \$1,000.00 \$210.00 \$2,100.00 \$400.00 \$100.00 \$1.00 \$10.00 4080240 605.000 TON EMULSIFIED ASPHALT, TYPE \$550.00 \$332,750.00 \$510.00 \$308,550.00 \$450.00 \$272,250.00 \$460.00 \$278,300.00 \$426.45 \$258,002.25 LMCRS-2H 4080317 763.000 EMULSIFIED ASPHALT, TYPE \$650.00 \$575.00 \$438,725.00 \$575.00 \$500.00 \$517.69 \$394,997.47 TON \$495,950.00 \$438,725.00 \$381,500.00 PMRE-H 4080360 3,444.000 SCREENINGS, 3/8-INCH \$100.00 \$344,400.00 \$65.00 \$223,860.00 \$90.00 \$309,960.00 \$65.00 \$223,860.00 \$100.46 \$345,984.24 TON 4080390 4,592.000 TON SCREENINGS, 1/2-INCH \$80.00 \$367,360.00 \$60.00 \$275,520.00 \$60.00 \$275,520.00 \$60.00 \$275,520.00 \$129.57 \$594,985.44 UNIFORMED TRAFFIC CONTROL \$21,000.00 6240130 1.000 \$21,000.00 \$21,000.00 \$21,000.00 \$21,000.00 \$21,000.00 \$21,000.00 \$21,000.00 \$21,000.00 \$21,000.00 **OFFICER** 6240140 40.000 DAY TRAFFIC CONTROL SUPERVISOR \$900.00 \$36,000.00 \$1,100.00 \$44,000.00 \$500.00 \$20,000.00 \$1,000.00 \$40,000.00 \$1,940.40 \$77,616.00 6250490 1.000 LS RENT TRAFFIC CONTROL DEVICES \$85,000,00 \$85,000,00 \$50,000,00 \$50,000,00 \$49,626,46 \$49,626,46 \$230,000,00 \$230,000,00 \$120,302,28 \$120.302.28 \$184,000.00 \$97,250.00 6280120 1.000 LS MOBILIZATION \$114,961.66 \$114,961.66 \$111,680.06 \$111,680.06 \$90,000.00 \$90,000.00 \$184,000.00 \$97,250.00 6320580 107.120 MILE WATERBORNE PAVEMENT \$900.00 \$96,408.00 \$495.00 \$53,024.40 \$495.00 \$53,024.40 \$800.00 \$85,696.00 \$519.75 \$55,675.62 STRIPING (TYPE II) (SOLID WHITE) WATERBORNE PAVEMENT 6320610 MILE \$840.00 \$2,220,00 \$2,200.00 \$900.00 \$2,310.00 \$970.20 .420 \$2,000.00 \$932.40 \$924.00 \$378.00 STRIPING (TYPE II) (8-INCH SOLID WHITE) 6320650 20.800 MILE WATERBORNE PAVEMENT \$400.00 \$8,320.00 \$230.00 \$4,784.00 \$230.00 \$4,784.00 \$1,400.00 \$29,120.00 \$241.50 \$5,023.20 STRIPING (TYPE II) (BROKEN YELLOW) 6320750 22.500 MILE WATERBORNE PAVEMENT \$1,300.00 \$29,250.00 \$575.00 \$12,937.50 \$575.00 \$12,937.50 \$200.00 \$4,500.00 \$603.00 \$13,567.50 STRIPING (TYPE II) (BROKEN YELLOW W/SOLID YELLOW) 6320780 11.320 MILE WATERBORNE PAVEMENT \$1,500.00 \$16,980.00 \$777.00 \$8,795.64 \$777.00 \$8,795.64 \$800.00 \$9,056.00 \$815.00 \$9,225.80 STRIPING (TYPE II) (DOUBLE SOLID YELLOW) 6341060 270.000 SQFT THERMOPLASTIC PAVEMENT \$20.00 \$5,400.00 \$20.00 \$5,400.00 \$20.00 \$5,400.00 \$20.00 \$5,400.00 \$21.00 \$5,670.00 MARKING (VARIES) 6370110 1.000 LS TEMPORARY POLLUTION \$3,369,74 \$3,369,74 \$10,000,00 \$10,000.00 \$4,000.00 \$4,000.00 \$3,000.00 \$3,000.00 \$5,250,00 \$5,250,00 CONTROL

\$2,030,989.40

Totals:

\$1,659,659.00

\$1,664,007.00

\$1.844.930.00

\$2,090,120.00

Bid Tabulation Nevada Department of Transportation

Contract No.: 3831 **Contract Description:** Awarded To:

To cold mill and place plantmix bituminous surface with open grade, shoulder widening, slope flattening, turn lanes, and box extensions Project No(s).: SI-0023(013)

Certified by:_ Amount: \$0.00 Administrative Services Officer Date:

Bids Opened:June 11, 2020, 1:30 PM

Contract Location: US 95 from 12.16 miles north of Beatty to 3.67 miles south of the Nye/Esmeralda County Line

				Engineer's Estimate		Road and Highway Builders LLC 175 Salomon Circle Ste #103 Sparks, NV 89434		Las Vegas Paving Corporation 4420 South Decatur Boulevard Las Vegas, NV 89103					
Item No.	Quantity	Unit	Description	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
1100050	400.000	HOUR	TRAINING	\$0.80	\$320.00	\$0.80	\$320.00	\$0.80	\$320.00				
2000100	20.000	HOUR	SURVEY CREW	\$250.00	\$5,000.00	\$200.00	\$4,000.00	\$287.00	\$5,740.00				
2010120	5.100	ACRE	CLEARING AND GRUBBING	\$5,000.00	\$25,500.00	\$4,000.00	\$20,400.00	\$3,200.00	\$16,320.00				
2020285	2,227.000	LINFT	REMOVAL OF CULVERT PIPE	\$40.00	\$89,080.00	\$30.00	\$66,810.00	\$19.00	\$42,313.00				
2020450	30.000	EACH	REMOVE END SECTION	\$300.00	\$9,000.00	\$500.00	\$15,000.00	\$504.00	\$15,120.00				
2020475	434.000	LINFT	REMOVAL OF GUARDRAIL	\$10.00	\$4,340.00	\$8.00	\$3,472.00	\$8.50	\$3,689.00				
2020530	8.000	EACH	REMOVAL OF HEADWALL	\$2,500.00	\$20,000.00	\$400.00	\$3,200.00	\$3,400.00	\$27,200.00				
2020990	585,476.530	SQYD	REMOVAL OF BITUMINOUS SURFACE (COLD MILLING)	\$2.00	\$1,170,953.06	\$4.00	\$2,341,906.12	\$1.25	\$731,845.66				
2020995	15,447.454	SQYD	REMOVAL OF BITUMINOUS SURFACE (MISCELLANEOUS COLD MILLING)	\$4.00	\$61,789.82	\$1.00	\$15,447.45	\$1.70	\$26,260.67				
2021120	1.000	EACH	REMOVAL OF CATTLE GUARD	\$4,000.00	\$4,000.00	\$4,000.00	\$4,000.00	\$3,000.00	\$3,000.00				
2030140	14,175.000	CUYD	ROADWAY EXCAVATION	\$18.00	\$255,150.00	\$24.00	\$340,200.00	\$38.50	\$545,737.50				
2030230	12,776.000	CUYD	BORROW EMBANKMENT	\$25.00	\$319,400.00	\$28.00	\$357,728.00	\$7.15	\$91,348.40				
2060110	3,448.800	CUYD	STRUCTURE EXCAVATION	\$35.00	\$120,708.00	\$25.00	\$86,220.00	\$68.00	\$234,518.40				
2070110	1,932.900	CUYD	GRANULAR BACKFILL	\$75.00	\$144,967.50	\$50.00	\$96,645.00	\$72.00	\$139,168.80				
2110150	4.400	ACRE	SEEDING	\$9,000.00	\$39,600.00	\$3,100.00	\$13,640.00	\$11,250.00	\$49,500.00				
2120570	366.000	EACH	TRANSPLANT FLORA	\$200.00	\$73,200.00	\$100.00	\$36,600.00	\$172.00	\$62,952.00				
3020130	18,887.670	TON	TYPE 1 CLASS B AGGREGATE BASE	\$24.00	\$453,304.08	\$20.00	\$377,753.40	\$22.50	\$424,972.58				
4020100	2,902.900	SQYD	PLANTMIXING MISCELLANEOUS AREAS	\$16.00	\$46,446.40	\$20.00	\$58,058.00	\$12.00	\$34,834.80				
4020180	104,381.180	TON	PLANTMIX SURFACING (TYPE 2) (WET)	\$85.00	\$8,872,400.30	\$58.00	\$6,054,108.44	\$88.50	\$9,237,734.43				
4030100	95.000	MILE	MILLED RUMBLE STRIPS	\$600.00	\$57,000.00	\$800.00	\$76,000.00	\$578.00	\$54,910.00				1
4030110	23,204.410	TON	PLANTMIX OPEN-GRADED SURFACING (3/8-INCH) (WET)	\$110.00	\$2,552,485.10	\$140.00	\$3,248,617.40	\$114.00	\$2,645,302.74				
4060120	8,000.000	SQYD	PRIME COAT	\$2.00	\$16,000.00	\$3.50	\$28,000.00	\$0.65	\$5,200.00				
4070190	1.500	TON	EMULSIFIED ASPHALT, TYPE SS-1H (DILUTED)	\$1,000.00	\$1,500.00	\$1,000.00	\$1,500.00	\$4,700.00	\$7,050.00				
5020740	113.300	CUYD	CLASS AA CONCRETE (MAJOR)	\$1,500.00	\$169,950.00	\$1,500.00	\$169,950.00	\$2,300.00	\$260,590.00				ĺ
5050100	21,096.000	POUND	REINFORCING STEEL	\$2.00	\$42,192.00	\$2.50	\$52,740.00	\$3.00	\$63,288.00				
6030350	608.000	LINFT	36-INCH REINFORCED CONCRETE PIPE, CLASS III	\$118.37	\$71,968.96	\$240.00	\$145,920.00	\$217.00	\$131,936.00				
6030440	35.000	LINFT	48-INCH REINFORCED CONCRETE PIPE, CLASS III	\$250.00	\$8,750.00	\$300.00	\$10,500.00	\$626.00	\$21,910.00				
6030770	82.000	LINFT	38-INCH X 24-INCH OVAL REINFORCED CONCRETE PIPE, CLASS HE III	\$200.00	\$16,400.00	\$350.00	\$28,700.00	\$346.00	\$28,372.00				
6030990	4.000	EACH	38-INCH X 24-INCH OVAL PRECAST END SECTION	\$1,500.00	\$6,000.00	\$2,500.00	\$10,000.00	\$5,500.00	\$22,000.00				
6031050	28.000	EACH	24-INCH PRECAST END SECTION	\$1,429.46	\$40,024.88	\$1,500.00	\$42,000.00	\$2,300.00	\$64,400.00				
6031090	12.000	EACH	36-INCH PRECAST END SECTION	\$2,041.10	\$24,493.20	\$1,800.00	\$21,600.00	\$3,600.00	\$43,200.00				
6031120	2.000	EACH	48-INCH PRECAST END SECTION	\$2,000.00	\$4,000.00	\$2,400.00	\$4,800.00	\$5,500.00	\$11,000.00				

				Engineer's Estimate		Road and Highway Builders LLC 175 Salomon Circle Ste #103 Sparks, NV 89434		Las Vegas Paving Corporation 4420 South Decatur Boulevard Las Vegas, NV 89103					
Item No.	Quantity	Unit	Description	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
6040390	1,616.000	LINFT	24-INCH CORR. METAL PIPE (16 GAGE)	\$50.00	\$80,800.00	\$100.00	\$161,600.00	\$162.00	\$261,792.00				
6040470	15.000	LINFT	30-INCH CORR. METAL PIPE (16 GAGE)	\$50.00	\$750.00	\$240.00	\$3,600.00	\$274.00	\$4,110.00				
6040545	45.000	LINFT	36-INCH CORR. METAL PIPE (16 GAGE)	\$75.00	\$3,375.00	\$250.00	\$11,250.00	\$285.00	\$12,825.00				
6042440	29.000	EACH	24-INCH METAL END SECTION	\$500.00	\$14,500.00	\$500.00	\$14,500.00	\$918.00	\$26,622.00				
6042460	1.000	EACH	30-INCH METAL END SECTION	\$800.00	\$800.00	\$1,300.00	\$1,300.00	\$1,200.00	\$1,200.00				
6042475	10.000	EACH	36-INCH METAL END SECTION	\$850.00	\$8,500.00	\$1,500.00	\$15,000.00	\$1,800.00	\$18,000.00				
6100050	656.000	SQYD	GEOTEXTILE (CLASS 1)	\$4.00	\$2,624.00	\$4.00	\$2,624.00	\$12.00	\$7,872.00				
6100190	155.000	CUYD	RIPRAP (CLASS 300)	\$160.00	\$24,800.00	\$200.00	\$31,000.00	\$153.00	\$23,715.00				
6100200	236.000	CUYD	RIPRAP (CLASS 400)	\$180.00	\$42,480.00	\$250.00	\$59,000.00	\$87.00	\$20,532.00				
6100470	123.000	CUYD	RIPRAP BEDDING (CLASS 300)	\$130.00	\$15,990.00	\$120.00	\$14,760.00	\$183.00	\$22,509.00				
6100480	65.000	CUYD	RIPRAP BEDDING (CLASS 400)	\$150.00	\$9,750.00	\$150.00	\$9,750.00	\$130.00	\$8,450.00				
6131380	16.000	SQYD	CLASS AA CONCRETE SLAB (6-INCH)	\$400.00	\$6,400.00	\$100.00	\$1,600.00	\$400.00	\$6,400.00				
6160410	1.000	EACH	3-FOOT METAL WALK GATE	\$1,000.00	\$1,000.00	\$500.00	\$500.00	\$1,400.00	\$1,400.00				
6160500	1.000	EACH	20-FOOT SWING GATE (DOUBLE)	\$1,700.00	\$1,700.00	\$4,000.00	\$4,000.00	\$2,500.00	\$2,500.00				
6161080	80.000	LINFT	TORTOISE FENCE	\$20.00	\$1,600.00	\$15.00	\$1,200.00	\$24.00	\$1,920.00				
6161200	57.000	LINFT	72-INCH CHAIN-LINK FENCE	\$70.00	\$3,990.00	\$40.00	\$2,280.00	\$101.00	\$5,757.00				
6170760	1.000	EACH	20-FOOT PRECAST CATTLE GUARD	\$20,000.00	\$20,000.00	\$30,000.00	\$30,000.00	\$35,000.00	\$35,000.00				
6190200	1,198.000	EACH	GUIDE POSTS (RIGID)	\$50.00	\$59,900.00	\$50.00	\$59,900.00	\$40.00	\$47,920.00				
6230201	3.000	EACH	ITS VAULT	\$6,000.00	\$18,000.00	\$5,000.00	\$15,000.00	\$5,600.00	\$16,800.00				
6230225	7.000	EACH	NO. 3-1/2 PULL BOX	\$750.00	\$5,250.00	\$900.00	\$6,300.00	\$540.00	\$3,780.00				
6230232	4.000	EACH	NO. 5 PULL BOX, MODIFIED	\$1,150.00	\$4,600.00	\$1,200.00	\$4,800.00	\$1,100.00	\$4,400.00				
6230236	4.000	EACH	NO. 7 PULL BOX, MODIFIED	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00	\$1,500.00	\$6,000.00				
6230268	10.000	EACH	LUMINAIRE, TYPE B	\$850.00	\$8,500.00	\$600.00	\$6,000.00	\$1,500.00	\$15,000.00				
6230575	10.000	EACH	STEEL POLE, TYPE 7 (WITH SAFETY BASE)	\$6,000.00	\$60,000.00	\$15,000.00	\$150,000.00	\$11,000.00	\$110,000.00				
6230653	1.000	EACH	ITS POLE (30 FOOT)	\$7,000.00	\$7,000.00	\$25,000.00	\$25,000.00	\$18,000.00	\$18,000.00				
6230921	1.000	EACH	RADAR DETECTOR SYSTEM	\$10,000.00	\$10,000.00	\$4,000.00	\$4,000.00	\$17,000.00	\$17,000.00				
6231061	1.000	EACH	COMMUNICATION CABINET	\$15,000.00	\$15,000.00	\$5,000.00	\$5,000.00	\$30,000.00	\$30,000.00				
6231115	1.000	LS	ROAD AND WEATHER INFORMATION SYSTEM	\$75,000.00	\$75,000.00	\$15,000.00	\$15,000.00	\$66,000.00	\$66,000.00				
6231259	105.000	LINFT	ETHERNET CABLE	\$7.00	\$735.00	\$25.00	\$2,625.00	\$14.00	\$1,470.00				
6231261	1.000	EACH	FIELD HARDENED ETHERNET SWITCH	\$8,500.00	\$8,500.00	\$1,500.00	\$1,500.00	\$13,500.00	\$13,500.00				
6231620	1.000	EACH	UNDERGROUND ELECTRICAL SERVICE	\$7,000.00	\$7,000.00	\$4,000.00	\$4,000.00	\$11,000.00	\$11,000.00				
6231722	2.000	EACH	TRANSFORMER (3 KVA)	\$3,600.00	\$7,200.00	\$9,000.00	\$18,000.00	\$7,400.00	\$14,800.00			ļļ	
6231740	2.000	EACH	PREFORMED TRANSFORMER PAD	\$1,500.00	\$3,000.00	\$1,500.00	\$3,000.00	\$3,700.00	\$7,400.00			ļļ	
6231790	25.000	LINFT	1 1/4-INCH CONDUIT	\$14.00	\$350.00	\$9.00	\$225.00	\$115.00	\$2,875.00				
6231795	275.000		1 1/2-INCH CONDUIT	\$14.50	\$3,987.50	\$8.00	\$2,200.00	\$43.00	\$11,825.00				
6231815	94.000		2 1/2 INCH CONDUIT	\$30.00	\$2,820.00	\$10.00	\$940.00	\$63.00	\$5,922.00				
6231820	5,944.000	LINFT	3-INCH CONDUIT	\$27.00	\$160,488.00	\$7.00	\$41,608.00	\$26.50	\$157,516.00			ļļ	
6231850	2,974.000		4-INCH MULTIDUCT CONDUIT	\$10.00	\$29,740.00	\$10.00	\$29,740.00	\$22.50	\$66,915.00				
6231955	6,775.000		NO. 1 CONDUCTOR	\$2.25	\$15,243.75	\$2.00	\$13,550.00	\$3.00	\$20,325.00				
6231970	693.000	LINFT	NO. 4 CONDUCTOR	\$1.50	\$1,039.50	\$1.50	\$1,039.50	\$2.70	\$1,871.10			 	
6231975	5,371.000		NO. 6 CONDUCTOR	\$1.25	\$6,713.75	\$1.50	\$8,056.50	\$1.35	\$7,250.85				
6231980	4,826.000	LINFT	NO. 8 CONDUCTOR	\$1.00	\$4,826.00	\$1.50	\$7,239.00	\$1.85	\$8,928.10				
6231985	1,089.000	LINFT	NO. 10 CONDUCTOR	\$1.05	\$1,143.45	\$1.00	\$1,089.00	\$2.50	\$2,722.50				
6232870		EACH	CELLULAR TELEPHONE MODEM	\$10,000.00	\$10,000.00	\$1.00	\$1.00	\$8,000.00	\$8,000.00			 	
6232895	310.000	LINFT	DIRECTIONAL DRILLING	\$80.00	\$24,800.00	\$80.00	\$24,800.00	\$216.00	\$66,960.00				

				Engineer's Estimate		Road and Highway Builders LLC 175 Salomon Circle Ste #103 Sparks, NV 89434		Las Vegas Paving Corporation 4420 South Decatur Boulevard Las Vegas, NV 89103					
Item No.	Quantity	Unit	Description	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount	Unit Price	Amount
6233030	1.000	EACH	CCTV CAMERA (PTZ)	\$10,000.00	\$10,000.00	\$8,000.00	\$8,000.00	\$11,000.00	\$11,000.00				
6240130	1.000	FA	UNIFORMED TRAFFIC CONTROL OFFICER	\$136,500.00	\$136,500.00	\$136,500.00	\$136,500.00	\$136,500.00	\$136,500.00				
6240140	140.000	DAY	TRAFFIC CONTROL SUPERVISOR	\$1,000.00	\$140,000.00	\$1,200.00	\$168,000.00	\$2,070.00	\$289,800.00				
6240240	10.000	HOUR	RENT EQUIPMENT (LOADER)	\$200.00	\$2,000.00	\$170.00	\$1,700.00	\$207.00	\$2,070.00				
6240280	10.000	HOUR	RENT EQUIPMENT (DUMP TRUCK)	\$200.00	\$2,000.00	\$150.00	\$1,500.00	\$144.00	\$1,440.00				
6240420	10.000	HOUR	RENT EQUIPMENT (BACKHOE)	\$200.00	\$2,000.00	\$130.00	\$1,300.00	\$157.00	\$1,570.00				
6250490	1.000	LS	RENT TRAFFIC CONTROL DEVICES	\$480,000.00	\$480,000.00	\$550,000.00	\$550,000.00	\$520,000.00	\$520,000.00				
6270190	976.570	SQFT	PERMANENT SIGNS (GROUND MOUNTED) (METAL SUPPORTS)	\$110.00	\$107,422.70	\$80.00	\$78,125.60	\$90.00	\$87,891.30				
6270240	386.770	SQFT	PERMANENT SIGNS, REMOVE	\$10.00	\$3,867.70	\$5.00	\$1,933.85	\$6.50	\$2,514.01				
6280120	1.000	LS	MOBILIZATION	\$997,674.28	\$997,674.28	\$1,468,175.44	\$1,468,175.44	\$1,542,493.68	\$1,542,493.68				
6320870	1.733	MILE	EPOXY PAVEMENT STRIPING (BROKEN WHITE)	\$2,000.00	\$3,466.00	\$500.00	\$866.50	\$459.00	\$795.45				
6320910	65.299	MILE	EPOXY PAVEMENT STRIPING (SOLID WHITE)	\$1,600.00	\$104,478.40	\$1,200.00	\$78,358.80	\$1,269.00	\$82,864.43				
6320980	26.800	MILE	EPOXY PAVEMENT STRIPING (BROKEN YELLOW)	\$800.00	\$21,440.00	\$500.00	\$13,400.00	\$459.00	\$12,301.20				
6321060	.850	MILE	EPOXY PAVEMENT STRIPING (BROKEN YELLOW W/SOLID YELLOW)	\$2,000.00	\$1,700.00	\$1,700.00	\$1,445.00	\$1,728.00	\$1,468.80				
6321080	5.042	MILE	EPOXY PAVEMENT STRIPING (DOUBLE SOLID YELLOW)	\$3,350.00	\$16,890.70	\$2,500.00	\$12,605.00	\$2,538.00	\$12,796.60				
6341030	24.000	LINFT	THERMOPLASTIC PAVEMENT MARKING (24-INCH SOLID WHITE)	\$35.00	\$840.00	\$12.00	\$288.00	\$11.50	\$276.00				
6341060	100.000	SQFT	THERMOPLASTIC PAVEMENT MARKING (VARIES)	\$18.00	\$1,800.00	\$25.00	\$2,500.00	\$27.00	\$2,700.00				
6370110	1.000	LS	TEMPORARY POLLUTION CONTROL	\$72,000.00	\$72,000.00	\$30,000.00	\$30,000.00	\$34,000.00	\$34,000.00				
			Totals:		\$17,625,899.03		\$17,111,111.00		\$18,999,000.00				